&

ASSEMBLY INSTRUCTIONS FOR VERSA 'FGR' GARMENT HANGING RACK

© COPYRIGHT ESE Direct Ltd
No unauthorised disclosure, reproduction or manufacture of
details or product permitted without prior written consent.

X
7

b
/X

Y
X/X

/

Z
M6 B

| .-M6 BOLT
- p p
M6 BOLT vl |- M6BOLT

\

-

M6 BOLT.
s

M6 BOLT

MERg

P
M6 BOLT

NECIGAKREEMS

Manulacturers of Changing Room Equipment

M6 BOLT

ANY CAPTIVE HANGERS (SOLD SEPARATELY) MUST BE FITTED
OVER CHROME TUBE HANGING RAIL AND RAIL INSERTED IN
POCKETS BEFORE TIGHTENING BOLTS IN FRAMES

2M, 2.5M AND 3M SHOE RACKS INCLUDE A
SECOND SHOE RACK / SHELF FRAME AND
CENTRE LEG TO BE FIXED IN THE SAME MANNER

_~M6BOLT

_~MBBOLT

r!.‘:,;-j

Biomaster®

PROTECTED

This product is freated with
i silver biocide:
tested to ISO 22196:2011

Please use

biocides responsibly
Wensum Works, 150 Northumberland Street, Norwich, NR2 4EE
Tel: (01603) 629956 Fax: (01603) 630113
www.cloakroomseating.co.uk




